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3/18/2021
A carrier signal C(t)=25 sin(2.512 x 10'%) is amplitude modulated by a message signal
m(t) =5 sin (1.57 x 10%t) and transmitted through an antenna. What will be the bandwidth
of the modulated signal ?
Options :
86435113231, 20 MHz

86435113232, 8 GHz

86435113233, 201 GHz

86435113234, 1987.5 MHz

Question Number : 1 Question Id : 8643514411 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fédg 2799 fAAES C(t) =25 sin(2.512 x 1010t) =T »H™H H'ZBHe ¥ A A5 s
m(t) =5 sin (1.57 x 108t) ©wTa" &I37 77T %2 WA I1 STHHE 3T A2 d | H38eS fHarss
=1 §3 J3et &t <4t 2

Options :

86435113231, 20 MHz

86435113232, 8 GHz

86435113233, 201 GHz

86435113234, 1987.5 MHz

Question Number : 2 Question Id : 8643514412 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two cells of emf 2E and E with internal resistance r, and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2E E
| |,
II II
ARG
R
Options :
"
86435113235, =
-
T | FE
86435113236. ~
ry I,
86435113237. -
T, +1,
86435113238.

Question Number : 2 Question Id : 8643514412 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2E %3 E ¥ %H #eE T € HS UG 1, %3 1, niegal Y390 58 fia gadt yf3gua R &8 B=tHy
72 75 (F23 <8) | fAg ufgs Ag © fowt T »eus yors »i3Ts g 959, RTTH'S |

2E E
II ||
!

Options :

86435113235.
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.rI |
el
86435113236,
1=y
86435113237.
T, Iy
86435113238.

Question Number : 3 Question Id : 8643514413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A sound wave of frequency 245 Hz travels with the speed of 300 ms ~! along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will
be the mathematical expression of this travelling wave ?

Options :

86435113239, Y(x, t)=0.03 [ sin 5.1x— (0.2 x 103)t ]

Y(x, ) =0.03 [ sin 5.1x — (1.5 x 103t ]
86435113240.

FRET e 5 \
86435113241, Y& 9=0.06 [ sin 5.1x—(1.5>10°)t ]

QO s .
86435113242, Y0, 1)=0.06 [ sin 0.8x— (0.5 x10°)t ]

Question Number : 3 Question Id : 8643514413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
245 Hz »ifea3t 2 8 aat 2591 300 ms ™~ ! €1 3721 578 103 © U630 U'H 28 98«1 J1 a1 &
I3 fifg f9 wit 3 ORI R 39 98 T9 6 cm I a9er 1 fon I It 3591 © AIfefIT MitEs
ot I 2

Options :

Y(x, )=0.03 [ sin 5.1x— (0.2 x 103)t ]
86435113239

Y(x, ) =0.03 [ sin 5.1x — (1.5 x 103t |
86435113240

A e g e .
86435113241, Y §=0.06 [ sin 5.1x— (1.5 x10°)t ]
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N e .
86435113242, 1o =006 ] sin @8== 0 Hx 1 ]

Question Number : 4 Question Id : 8643514414 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A geostationary satellite is orbiting around an arbitary planet ‘P’ at a height of 11R above
the surface of ', R being the radius of ‘I". The time period of another satellite in hours at a

height of 2R from the surface of ‘T is . ‘'P" has the time period of 24 hours.
Options :
86435113243, 2

86435113244, V2

86435113245. 3

6
86435113246. V2

Question Number : 4 Question Id : 8643514414 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foa 3-wigg Guarfo us3t &1 w3fo 3 11 R €t §97¢ 3 €3 HaHSI( Orbitory ) Sugfa ‘P’ © ev®
dog d2 faar J, R Ua3t @ wigu fawm 31 P &1 w3fg 3 2R &1 897 3 fan I8 Suglfa = w3
T WenT &g JI P T weds % 24 WE T |

Options :
86435113243, 2

86435113244, 632

86435113245. 3

6
86435113246. V2
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Question Number : 5 Question Id : 8643514415 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two identical blocks A and B each of mass m resting on the smooth horizontal floor are
connected by a light spring of natural length L and spring constant K. A third block C of

mass m moving with a speed v along the If_nejoinf_ng A and B collides with A. The maximum

compression in the spring is

=

C A
m —_ m | Y Y Y Y | m

Options :
| m
B
86435113247, V2
m
A =
86435113248, ' 2K

|' mu

86435113249, V K

m

2K

86435113250.

Question Number : 5 Question Id : 8643514415 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

< 83 fag 997 A %2 B 394 €7 Ud m 3982 @90 2 »iad wiEAe' f29 89 aeast d9t L w3
FHET AfEg wid K €1 I%at ans ©a 83 76 | m Ud © f8g 3tHa g7 C 913t v 7% A w3 B
& 3 3J1 U IS I8 Ifew™ A I8 g e J1 aHt = 993H HOEe J |

C A B
m — m =YY Y Y m

Options :
[m
o
86435113247. V2K
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86435113248.

\/mt:
86435113249, ' K

86435113250.

Question Number : 6 Question Id : 8643514416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two particles A and B of equal masses are suspended from two massless springs of spring

constants K, and K, respectively. If the maximum velocities during oscillations are equal,

the ratio of the a_mplitude of A and B is

Options :
2
86435113251,
||K1
s
86435113252, V2
K,

86435113253, 1

86435113254.

Question Number : 6 Question Id : 8643514416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

9999 Ud © @ a8 A %3 B § K, »3 K, T Il Afg »id €™ 2 Yd I3 e 58
T fam™ | F99 23 B9 S93H IZT 93T I8 3T A »iE B T HTETT © wisy3 T |

Options :
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86435113251,
K4
86435113252, V2
.

86435113253, 1

K,

s

K4
86435113254.

Question Number : 7 Question Id : 8643514417 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11
List - 1

(a) Phase difference between current and voltage (1)

ina purel}r resistive AC circuit

(b) Phase difference between current and voltage in  (ii)

a pure inductive AC circuit

(c) Phase difference between current and voltage in  (iii)

a pure capacifive AC circuit

(d) Phase difference between current and voltage in  (iv)

an LCE series circuil

List - 11
.TI'
E; current leads vnltage

ZETO

o
E; current lags voltage

g I(KC KL]
Y, R r

Choose the most appropriate answer from the options given below :

Options :

86435113255, (@ (D) (D)(iii), (0)-(iv), (d)-(ii)

26435113256, (@)r(i), (b)-(iv), (c)-(ii1), (d)-()
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86435113257, (@-(1), (B)-(iid), ()-(1), (d)-(iv)

26435113258, (@) (i), (b)-(iii), (c)-(iv), (d)-(1)

Question Number : 7 Question Id : 8643514417 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A3t - I w3 A9t - 11 fHeg
AT -1

(a) dd2 w3 TWA fegara ag (&) wizg

foa AU Yf3sy AC wade &9
(b) TIe w3 TTA fegas I (29)
39 f8d HU Yga AC Haae fZ9

(c) T2 w3 T fagarg 98" (a4)

w33 83 AU U AC HIaz 39

(d) dde #3 TH/A fegag & (29)
nizg ffd LCR S3H0 Agae &9

Options :

86435113255, @) () (D)), ()-(iv), (d)-(ii)

ce3s1 1305, @H(), (B)-(v), (i), (d)-()

86435113257, (@-(1), (B)-{itd), ()-(1), (d)-(iv)

26435113258, (@)-(ii). (b)-(iii), (c)-(iv), (d)-(1)

Question Number : 8 Question Id : 8643514418 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT - 11
(@ %;aa’?eaeq“ L
(i) frAea
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What happens to the inductive reactance and the current in a purely inductive circuit if the
frequency is halved ?

Options :
86435113259 nductive reactance will be doubled and current will be halved.

86435113260, Inductive reactance will be halved and current will be doubled.

86435113261 Both, inductive reactance and current will be halved.

86435113262. Both, ﬂ‘lduCLT'_ng reactance and current will be doubled.

Question Number : 8 Question Id : 8643514418 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ffa Atz Yoa (f¥aafer) Aoae (<9 »=ast »il 395 3 Uod (f¥safer) fonadn »i3 ade &3 &t
U ?

Options :

26135113250 Joa (fesafer) fonwadn Saret J2ai w3 ade wiur I A |

86435113260, 157 (fE3afe) fowadm with I A<t »13 592 € I J < |

26435113261, S0 4o9d (fezafe) fowacn w3 ade »it T A< |

26435113262, S0 4oa (fEzafeR) foneadn w3 ade €9e I A=A |

Question Number : 9 Question Id : 8643514419 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A sphere of mass 2 kg and radius (.5 m is rolling with an initial speed of 1 ms 1 goes up an
inclined plane which makes an angle of 30° with the horizontal plane, without slipping.
How long will the sphere take to return to the starting point A ?

A 30

Options :
86435113263, 000 S

86435113264, 027 S

86435113265, 002 S

86435113266, -5V S

Question Number : 9 Question Id : 8643514419 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&g 2 kg UA »13 0.5 m »3q o = 35T fast fers 1 ms ~1 &1 Agnrst a3t 55 fia w5 33
MIF A B8R /IR T RIITge8T IIT W IBII oo 9 @ A=t g A 3
TUHA HIFE 39 fdaT rHT (fdaT ©3) S=ar 2

% 30°

Options :

86435113263, 00 S

86435113264, 027 S

86435113265, 002 S
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86435113266, -0 S

Question Number : 10 Question Id : 8643514420 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

1
always rising to 100 of the height through which it falls. Find the average speed of the ball.

(Take g =10 ms~2)

Options :

1
86435113267, 20 ms

1
86435113268, 220 ms

1
86435113269, -0 ms

1
86435113270, 20 ms

Question Number : 10 Question Id : 8643514420 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

81

Ju3 &1 fog 912 & 290 35 m & 897 I Efanr famr 91 fog T9-T9 G=a<t T4, THAT o5 &

Garet I9 §ug wiEt I fE £t ot /Y | JR S o3 TR U IS | (g=10 ms 2 B5)

Options :

1
86435113267, 20 ms

1
86435113268, 220 ms

1
86435113269, 30 ms

1
86435113270, >0 ms

Question Number : 11 Question Id : 8643514421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

12/89
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Correct Marks : 4 Wrong Marks : 1

The velocity of a particle is v =v, + gt + F. Its position is x=0 at t=0; then its displacement
after time (t=1) is :

Options :
86435113271.

86435113272.

86435113273.

86435113274.

Question Number : 11 Question Id : 8643514421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ffa gz T T o=0,+gt+F2 T | fore! AfESt x=0 T 7€ AHT t=0 T ; 37 feme femaye (t=1)

AH I T ;
Options :
vy % +F
86435113271, 2
2 :
86435113272, Yo 28 +3F
F
(eh) | E  —
2 3
86435113273.
86435113274, 0 P8 TF

Question Number : 12 Question Id : 8643514422 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

13/89
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A hairpin like shape as shown in figure is made by bending a long current carrying wire.

What is the magnitude of a magnetic field at point P which lies on the centre of the

semicircle ?

1
- *4"#'
P 91
I
Options :
I
;‘T*(z )
86435113275, <7r
I
PO (2 + )
86435113276, 2™
I
—:”” (2 + )
86435113277, =TT
pol
o (2—m)
86435113278, *7F

Question Number : 12 Question Id : 8643514422 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J5 723 fo39 29 ade & wre T8l i g9t 379 3 1= 9 ¥ wigfls (I & das <&t get/

gdHHT) TI911 HoasT gevel I | fig P 3 Judt 439 €1 Hi3aT & J 3037 9 wioy 990 € de9 3

Rfgz I 7
|

e
=

P{ el
"

M

Options :

86435113275.

86435113276.

pol

— (2=
2-7:'1'( )
ol
——(2+1
2‘7!'1'{ 3
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I

80 (2 4+ 4)
86435113277, 47T
ol

20 (2-m)
86435113278, =TT

Question Number : 13 Question Id : 8643514423 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The atomic hydrogen emits a line spectrum consisting of various series. Which series of

hydrogen atomic spectra is lying in the visible region ?
Options :

86435113279, 1 aschen series

86435113280, balmer series

86435113281, Lyman series

86435113282, prackett series

Question Number : 13 Question Id : 8643514423 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TEETE YH'S nidal- »issdl B3 (Hida) € f8a qut AlagH S3rans dae' d | TEEns YH'S
AUsRH ot faadt ==t (Hidia) foiftas (for) U39 e dge 3 2

Options :

86435113279, Ao BF

86435113280, TEHI AT

86435113281, SEIHG BT

86435113282, 3¢ B

Question Number : 14 Question Id : 8643514424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
15/89
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Correct Marks : 4 Wrong Marks : 1

Two identical photocathodes receive the light of frequencies f, and f, respectively. If the

velocities of the photo-electrons coming out are v and v, respectively, then

Options :
. r .
T — Uy = [i[..fl fz]}_
86435113283, s
v o) 2h
7 — v =—1f1 —fl
86435113284, m
1
2h 2
™ + Uy = [—{fl ' ,.Jrz.]]
86435113285. m
2 2 2h
vy +19 = —|f1 +/]
86435113286. .

Question Number : 14 Question Id : 8643514424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

< 6 AHTS Yo o83 f, »f3 f, W=el3 € YaTH Y3 ggeT J | Had 9799 WG T YaH fedags

T FHTT v, M3 0, T I
Options :
. g 5
v~y = Hm .fz]}_
86435113283. :
v o) 2h
v - =—|H —fl
86435113284, m
1
2h 2
™ + Uy = F{fl F fa)
86435113285.
2 2 2h
) +v3 = —[f1 +fal
86435113286. .

Question Number : 15 Question Id : 8643514425 Question Type : MCQ Option Shuffling : Yes Is

16/89
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following will be the output of the given circuit ?

AT Dﬁ
L
—-

B
Options :

86435113287, AND Gate

86435113288, NVAND Gate

86435113289, NOR Gate

86435113290, [VOR Gate

Question Number : 15 Question Id : 8643514425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
J&" fadtni 129 faa=t eane are Aage &t »ir@eye (famaan) ot J=art 2

P
L3
’—}

AT

B
Options :
86435113287, AND €

86435113288, INAND 3@

XOR a2
86435113289.

86435113290, NOR dl<

Question Number : 16 Question Id : 8643514426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

17/89
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The four arms of a Wheatstone bridge have resistances as shown in the figure. A galvanometer

of 15 [} resistance is connected across BD. Calculate the current thrcrugh the galvarmmeter

when a potential difference of 10 V is maintained across AC.

Options :

86435113201, 244 RA

86435113292, 244 mA

86435113203, +87 wA

86435113294, 187 mA

Question Number : 16 Question Id : 8643514426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TS gfad (UB) Snf™ I79 T 939 29 foume wigna yZou quahn 35 | 15 Q Yf3gu = feg
IBZEHET BD € waUd dfgn I | I8<aHeT Re Ba faor ade usrag A€ ACE wauad 10 V
T UCHS W3S 5 J g J |

Options :

18/89
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86435113201, =44 pA

86435113292, 244 mA

86435113203, +87 wA

86435113294, 187 mA

Question Number : 17 Question Id : 8643514427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12 cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=10.693 )

Options :
86435113205, 1167107 kg 57

a 2 1
86435113206, 69 %107 kg s

rd 3 1
86435113297, 2/ <1077 kg's

2 1
86435113208, >0 < 107 kg s

Question Number : 17 Question Id : 8643514427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foq aHTt 58 72 1 kg UA 2 89 9/ & 12 cm T FI™St »iaH 378 38 grenr I | 2 file
g WTETH B HT3dT 6 cm W2 Fet | foga 9% BE wi@ies AiEg wig €T HE U3 a4 |
(In2=0693 &2 )

Options :

86435113205, 167107 kg s

g 2 1
86435113206, 09 %107 kg s

rd 3 1
86435113297, 0/ ¥ 107" kg's
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3.3x 102 !
86435113208, -2 < 107 kg s

Question Number : 18 Question Id : 8643514428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f one mole of the polyatomic gas is having two vibrational modes and 3 is the ratio of molar

C ;
specific heats for polyatomic gas [[:‘: = _—PW then the value of 5 is :
% L,
Options :
1.25
86435113299.

| B
86435113300.

86435113301, 1-3°

86435113302, 1-02

Question Number : 18 Question Id : 8643514428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hag fod A8 SgyHT=<1 3F € d9el gU (H3) o o0t I w3 SgyHaa! I &t g Heg fefare

EﬁﬁETW@ﬂE[ﬁzzgi}ﬁ]?*ﬁ?ﬂﬂﬁﬁ:
Options :

86435113209, 1127

86435113300, 1+

86435113301, 137

86435113302, 1-02

Question Number : 19 Question Id : 8643514429 Question Type : MCQ Option Shuffling : Yes Is

20/89
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one is the correct option for the two different thermodynamic processes ?

3
T «— adiabalic
p
isothermal
(a)
—
A
T e—isothermal
\"I.'
adiabatic
(c)
e

Options :
(a) only
86435113303. .

86435113304, (D) and ()

86435113305, (<) and (a)

86435113306, () and (d)

Question Number : 19 Question Id : 8643514429 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

/ f isothermal

adiabatic

o —

f

W

T—

isothe rmal
8, 5N

__/ ;}11'3 batic

W

T—>
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< nigal InETST Yffafanre et faogr foq feasy Aat J |

A RO . |
P
(a) <m{3nﬁ (b
> Afggandt
L —
T A
T A : \_)
o K,
v
(c) (d) /
RIEGERT IECERN]
~< —
0
Options :
86435113303, ~=C @)
86435113304, () 73 (9

}"—_.-
86435113305, (© "= (@)

© 3 (d)
86435113306.

Question Number : 20 Question Id : 8643514430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

22/89
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An object is located at 2 km beneath the surface of the water. If the fractional compression

T is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

[ Given : density of water is 1000 kgm ~° and g =9.8 ms 2]
Options :
oy 5
86435113307, 1-96 <107 Nm

7 2
86435113308, 144 >107 Nm

109 2
86435113309, 226> 10" Nm

86435113310, 144 %107 Nm ™2

Question Number : 20 Question Id : 8643514430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e - - v = 1) = = o i‘l\“ o . A = s
feq Az ust S 73fa 3 I57 2 km 3 Hge J | #99 »ifHd HIRES v 136%d, JEIEf%d HSdH

3 TEEfBE HEIE & gy g3 J&ar |

(¥5 B85 Ut &t w2T 1000 kgm 3 »3 g=9.8 ms 2 1)
Options :
. . "
86435113307, 1-96%107 Nm

86435113308, 144107 Nm ™2

109 2
86435113309, 2-26%10" Nm

[}

9
86435113310, 144 >10° Nm

Physics Section B

Section Id : 864351296
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory

23/89
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Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351296
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643514431 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 2 uF capacitor C; is first charged to a potential difference of 10 V using a battery. Then the

battery is removed and the capacitor is connected to an uncharged capacitor C, of 8 pF. The

charge in C, on equilibrium condition is . pC. (Round off to the Nearest Integer)
S
S1 52
2 wF 8 wF
1ov[ T BE:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643514431 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fea 2 uF & 7rga C, ufos fg 825t €1 =93 58 10 V € USHB #3938 I gad di3T aerJ | 23
dedl gev fegt 77l I w3 Ued § 8 pF ¢ f¥F diguafaz (wiE9afaz) uad C, &% Afan

T I | C, 3 H3B3 wiwmE f&9 __pC T J | (538 U3s »id 39 IFF »e)
& oS
e __EpF _| BuF
ov] T¢ K

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643514432 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A boy of mass 4 kg is standing on a piece of wood having mass 5 kg. If the coefficient of
friction between the wood and the floor is 0.5, the maximum force that the boy can exert on
the rope so that the piece of wood does not move from its place is N. (Round off

to the Nearest Integer)
[Take g =10 ms 2]

W
E

k 4
F

LS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514432 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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4kgin T ffa B3ar 5 kg YA © f8q a3t € 2a3 I Ug I | #9d Sa3! »i3 god fega'a 3918
I 0.5 7, T IS G934 985 T IA 3 N 33 HT Haar 37 {3 a3t =7 2oz nivst
Afg3t 3 37 138, (538 yJs wid 39 IG5 wiie) [g=10 ms ™2 5]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643514433 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The image of an object placed in air formed by a convex refracting surface is at a distance of

rd
10 m behind the surface. The image is real and is at 3 of the distance of the object from

the surface. The wavelength of light inside the surface is 5 times the wavelength in air. The

. - - :
radius of the curved surface is — m . The value of ‘x" is
13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 23 Question Id : 8643514433 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g 835 ufgeazst wafa owmer gfewr yfzfdy o wrarg fan 29 93 3 10 m &1 =t 3 gfuwr

= it - 2 e Lo = it o (a1 - L 2
fami T | CIE] e THIEE w3 3 JIETTHIT gdl S ST J | Yd™ oI9S 73T & widd 3

g il B e X .
J&Td d ’?_H‘: 3991 BT I ¥ wivd J 39 H3J (curved surface) T wadU fanH e} m |

x T HS J | (538 yge »id 39 IGF niie)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514434 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field intensity produced by the radiation coming from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced by the radiation coming from 60 W at the

same distance is

x
ﬁ E. Where the value of x=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514434 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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100 W € 989 3 » gaho fedfger g 3m &t eat 3 YT a5t fanst 43 ST ET 1 60 W

%lﬂ fog

€ 989 3 of Igi feafgs’ enter 99He gt 3 Uer & faas 439 Suear J \

x T HE = | (535 yJa »id 39 9 3 »e)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514435 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Seawater at a frequency f=9x 102 Hz, has permittivity E=3E]€ﬂ and resistivity

p=0.25 {Im. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

becomes 10" times the displacement current density after time t = 800" The value of x is

(Given : =9 x 10° Nm%C™?)

dqr £

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514435 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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HHETT UTst f=9x102 Hz #3231 3 ygfaasa (YaHidEet) e=80¢, »3 yfaguas:
p=025 Qm. I4T" I | IBUEF 9 fa Fa A3 USe Tad AHedl U wivg Sfamr J w3 fig

o . 1 .
WBIS[3d THEA {3 V(1) =V, sin(2wft) T ISTenTI=T T | AH t= 30g 8 T, T8S e

W3 10* € I fTHEUE 9 WeIT 98T J At J | (Displacement Current Density) | x 27
H'S J 1

(fezm 3 41 = 9x10° Nm?C™?)
TEQ

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514436 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field in a region is given by E = %Eﬂ,; I %Eﬂ ; with Eg = 4.0 x 1[13%. The

flux of this field through a rectangular surface area 0.4 m- parallel to the Y~ Z plane is
Nm?C L
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643514436 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

foq 439 fu famsdt 439 E = gEﬂf | %En; E, =4_u|x1[13% s g famr I Y-Z

35 € ANET 89 0.4 m?2 »wfegag ¥39es @ &g fon 439 o 9™ NmZC~ ! J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643514437 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The disc of mass M with uniform surface mass density « is shown in the figure. The centre of

where

3

%
"3

g |

: . G X
mass of the quarter disc (the shaded area) is at the position 3

xiz . (Round off to the Nearest Integer)

[a is an area as shown in the figure |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514437 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643514438 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A hr:-d}-' of mass 1 kg rests on a horizontal floor with which it has a coefficient of static

friction % It is desired to make the body move by applying the minimum possible force

F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms ™ 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 28 Question Id : 8643514438 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

; . s : B e T [
1 kg U+ <1 e THZ B2 90 3 »igH wizng' &9 J fane &8 fog Afgg oo 9 —— Jut

V3

J 1 fog 993 &t At I fa @ng A9l fa053H 9% F N 8args 2 98 u2 | F &7 HS
J2ar | (538 YTs nid 39 98 »ig) [g=10ms 235 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514439 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle of mass m moves in a circular orbit in a central potential field U(r) = Ugrt. If

s |
Bohr’s quantization conditions are applied, radii of possible orbitals r, vary with n« , where

o 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514439 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

m Ua =" foq g foq Jagarg oan &9 dedt Yéus 439 U(r)=Uyr! 29 98e7 7 | 799 H99 <t

= = a fa fa . i
INTSTERIHG WIS B da7 I7 37 AITLI niafaes (F9w) T nigd fan™ r, , nv &8 928
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 30 Question Id : 8643514440 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Suppose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 em® of oleic acid per cm® of the solution. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm? by considering 100 spherical drops of

1
3 43 ]
radius [— * 10 3 cm. Then the thickness of oleic acid Ia}-'er will be xx10~14 m,
al,

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643514440 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ha B2 fa 3l wifga 39 o g u3e urs fon 3faa v fenr J 37 fa forel Aussr wifes 39

s e

: : . . 3 n; ’
2 WE AWEIT 27 0.01 W em? (H.HL) WS g 972 | fag 3At (KW x 10~ cm »Ig fawry 2

T

100 J&ad 2T 3 HE J fon us € 89 4 em? §39e% 2 u3Et ug3 (fesH) (feanmdl Hemet)
TEET T IS Y T wE T dTax 10 U m T xTHE T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Chemistry Section A
Section Id : 864351297
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351297
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643514441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amongst the following, the linear species is :
Options :

86435113321. il

NO,
86435113322. =

D?
86435113323, -

86435113324, =

Question Number : 31 Question Id : 8643514441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J& 13 J2 miznr 29 fagam wiz fEa odt mutee 9 ¢
Options :
86435113321, '3

NO,
86435113322. =
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DE
86435113323, -

CL,0O
86435113324. =

Question Number : 32 Question Id : 8643514442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During which of the following processes, does entropy decrease ?
(A) Freezing of water to ice at 0°C

(B) Freezing of water to ice at —10°C

(C) N(g) + 3H,(g) — 2NH;(g)

(D) Adsorption of CO(g) on lead surface.

(E) Dissolution of NaCl in water

Choose the correct answer from the options given below :
Options :

86435113325, () (B), (C) and (D) only

86435113326. (A), (€) and (E) only

86435113327, (A) and (E) only

86435113328, (B) and (©) only

Question Number : 32 Question Id : 8643514442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I3 fest faost fafew=t So= wisendt west T ?
(A) 0°C Iuys BuT ust T 5o &9 AWsE 3
(B) 10°C 3N Bug wat & gag @9 dHas 2
(©) Ny(g) + 3H,(g) — 2NH,(g)
(D) 3T 383 QO(g) T AfbS I=
(E) NaClzr ust &g wse
Js feghar =8 At 839 T2 :
Options :
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86435113325, A (B), (C) 73 (D) s

86435113326, (A (C) »3 (B) frs=

86435113327, (A) M3 (E) fAa=

86435113328. i) e O :

Question Number : 33 Question Id : 8643514443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the coagulation of a negative sol, the species below, that has the highest flocculating
pOwWer is :
Options :
a2+
86435113329, 02

a
86435113330, 1@

PO
86435113331.

SO7
86435113332,

Question Number : 33 Question Id : 8643514443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fez=3Ha A® © dc 9o8z &=t 9o oy AftAn/aet <9 A9s 20 de so8z © Hast O ¢
Options :

BaZ*

86435113329.

= T
86435113330, 1\@

PO
86435113331
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SO3
86435113332.

Question Number : 34 Question Id : 8643514444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set of elements that differ in mutual relationship from those of the other sets is :

Options :
86435113333, be - Al

86435113334, B=Si

86435113335, Li-Na

86435113336, 1~ M8

Question Number : 34 Question Id : 8643514444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fao= 337 = My T AT 3 wiuAt fe=os 9 85 T ¢
Options :

86435113333, be - Al
86435113334, B~ Si

86435113335, i-Na

86435113336, L~ M8

Question Number : 35 Question Id : 8643514445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - I1 :

List - 1 List - 11
(a) Haematite () AlLO;xH,O
(b) Bauxite (i) Fe,O4
(c) Magnetite (iii) CuCO5;Cu(OH),
(d) Malachite (iv) FeyO,

Choose the correct answer from the options given below :
Options :

36435113337, (@)k-(1), (b)-(iii), (c)~(ii), (d)-(iv)
86435113338. (a)-(i1), (b)-(3), (c)-(iv), (d)-(iii)
86435113339, (@-(Iv), (b)-(1), (c)-(i), (d)-(iii)

26435113340, @)-(1), (b)-(iii), (c)-(1), (d)-(iv)

Question Number : 35 Question Id : 8643514445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gt -1 =gt - 5% iz a0
get - 1 get - 11

(a) IJneEe i) Al,O;xH,O
(b) =FaAER (i) Fe,O4
(c) FadeEe (iii) CuCO4Cu(OH),
(d) FeaEe (iv) Fe;O4
Options :

36435113337, (@)k(1), (b)-(iii), (c)~(ii), (d)-(iv)
86435113338. (a)-(i1), (b)-(3), (c)-(iv), (d)-(iii)
86435113339, (@-(Iv), (b)-(1), (c)-(i), (d)-(iii)

26435113340, @)-(1), (b)-(iii), (c)-(1), (d)-(iv)
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Question Number : 36 Question Id : 8643514446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The functional groups that are responsible for the ion-exchange property of cation and anion

exchange resins, respectively, are :

Options :
SO,H and — NH,
86435113341, - :
86435113340,  1VH and —COOH
NH, and —SO;H
86435113343, 2 _
26435113344, OOaH and —COOH

Question Number : 36 Question Id : 8643514446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faoz fafordis Jou e gasHa nis foesna ey 9 e es= &8 e 76
Options :

SO.H n3 —NH,

86435113341,

86435113342, ~ NHp 3 —COOH
86435113343, VT2 m3 ~SO;H
96435113344, — SO3H »3 —COOH

Question Number : 37 Question Id : 8643514447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One of the by-products formed during the recovery of NH, from Solvay process is :
Options :

NH,Cl
86435113345. 4

39/89



3/18/2021

Ca(OH),
86435113346. =

CaCl,
86435113347. =

T
86435113348, VAHCO;

Question Number : 37 Question Id : 8643514447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A< fedt €972 NH, € 43 uust €9 foagst Bu-Burt (by-products) saeit 76!
Options :
NH (1
86435113345.

Ca(OH),
86435113346. =

CaCl,
86435113347. =

NaHCO,
86435113348,

Question Number : 38 Question Id : 8643514448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The set that represents the pair of neutral oxides of nitrogen is :

Options :

86435113349.

86435113350.

86435113351

86435113352.

NO and NED
NZD and I‘\I‘D1
NO and I‘\IG1

NZD and N203

Question Number : 38 Question Id : 8643514448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

iad

feat Ayat 89 faggr 43 aeiens © fsaud marEls T

Options :
86435113349. RIS SRl

N,O »3 NO,
86435113350. - =

86435113351. NO-PEs O

N,O »& N0,
86435113352 2 2=

Question Number : 39 Question Id : 8643514449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The common positive oxidation states for an element with atomic number 24, are :
Options :

86435113353, T 1to 16

86435113354, T2 to +6

86435113355, T 1and t3to +6

86435113356, T 1 and +3

Question Number : 39 Question Id : 8643514449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UgHESt Aftnft 24 T niH wiaATgeE wieRET=’ O6
Options :

86435113353.

86435113354, 123 +6

86435113355, 11 M3 +3 3 +6
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F1 M3 +3
86435113356.

Question Number : 40 Question Id : 8643514450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) [Co(NHj)gl [Cr(CN)g (i  Linkage isomerism
(b) [Co(NHj); (NO,),] (i) Solvate isomerism
(c) [Cr(H,O):]Cly (i) Co-ordination isomerism
(d) eis-[CrClLy(ox),]? (iv) Optical isomerism

Choose the correct answer from the options given below :
Options :
c6a35113357. @), (©)-(i), (©)-(iii), (d)-(iv)

26435113358, (@)1, (B)-(1), (c)-(iii), (d)-(iv)
86435113359, (@)-(iii), (b)-(i), (¢)-(ii), (d)-(iv)

26435113360, @ V). (b)-(i), (c)-(iii), (d)-(i)

Question Number : 40 Question Id : 8643514450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 »= gat - 1l g
got - 1 - 11
(@)  [Co(NHz)g] [Cr(CN)gl () Hust mmiaET
(b)  [Co(NH,), (NO,),] (i) FAH<e AHMIEET
(c) [Cr(H,0)4]Cly (i) BurfortHs mmiasT
(d) FRRI-[CrCl,(ox),)? (iv) USH AHmiEET
Options :

86435113357, @F(1), (b)-(ii), (c)-(iii), (d)-(iv)
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86435113358, (@)-(iD), (P)-(i), (c)-(iii), (d)-(iv)

86435113359, (@)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

26435113360, @r V). (b)-(id), (c)-(ii), (d)-(i)

Question Number : 41 Question Id : 8643514451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers
(B) excess usage of detergents
(C) dense plant population in water bodies
(D) lack of nutrients in water bodies that prevent plant growth
Choose the most appropriate answer from the options given below :
Options :
86435113361, (A) only

86435113362, (B) and (D) only

86435113363, (©) only

86435113364, (D) only

Question Number : 41 Question Id : 8643514451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J5 it aEnt 59 feedeams o9 foaga/faus a@s oo 05 ?

(A) yef T ¥g T9s

(B) % foeoa € 0 =93

(C) wzl =@ TAgnr 59 Toust 2 Rusl FenfenT

(D) uet =8 e e unfecr S St e o eu e 9=
I5 TSt {29 A=3 Ja=t €39 fay

Options :

86435113361. (A)
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86435113362, 1F9e (B) 713 (D)

86435113363. ©

86435113364. )

Question Number : 42 Question Id : 8643514452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Nitrogen can be estimated by Kjeldahl’s method for which of the following compound ?

Options :

-

86435113365. e

-

86435113366. ChHp —NH,

86435113367.

+
86435113368, ~ N=NCI

Question Number : 42 Question Id : 8643514452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TEETs f=dt ovrar J6 By faag tfde @9 aeieas @ HSo3Hd fenmse a3 aer J |

Options :
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-

86435113365,  NO2

-

86435113366, 12— NHz

\

/

86435113367. N

-

+
86435113368,  N=N Cl

Question Number : 43 Question Id : 8643514453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :

86435113369, (4) only

86435113370, (B) only

86435113371, (A) and (C) only

86435113372, (P) and (C) only
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Question Number : 43 Question Id : 8643514453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ooz va/mz a8 madt widise #tars 3/05 ¢
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :

86435113369. (A)

86435113370. (B)

86435113371, F9% (A) 7= (O)

86435113372, 798 (B) "3 ()

Question Number : 44 Question Id : 8643514454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : 2-methylbutane on oxidation with KMnO, gives 2-methylbutan-2-ol.
Statement Il : n-alkanes can be easily oxidised to corresponding alcohols with KMnO,.
Choose the correct option :

Options :

86435113373, Both statement 1 and statement Il are correct

86435113374. Both statement 1 and statement 1l are incorrect

86435113375, Statement 1 is correct but statement 11 is incorrect

86435113376. Statement I is incorrect but statement 1l is correct

Question Number : 44 Question Id : 8643514454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

J&T € a8 83 95

FEs 1:  2-HiEEs 525 & KMnO, 5% WicHIGS o9 &% 2-HIEEIBEcs-2-nm% gae J |

g6 1l: nomon' 3 KMnO, € &% nAS! 6'8 MaH g3 d9a 8ay © nidaas 9 gefon Jer
JI

At 839 9= &9 :

Options :

86435113373, 0 @H6 17T aEs 1l At 751

R6435113374. =0 oHG 105 @Es 11 353 35|

86435113375, oH6 | A J ud aEs 11 393 J|

26435113376, %86 1 03 I UT @6 11 At I

Question Number : 45 Question Id : 8643514455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement regarding the formation of carbocations A and B given.

+
»> CH3 = CH2 = CH2 = CHE + Br—
L A.l'r

CHS— CHZ —CH = CHE + HBr

+
> CH; — CH,—CH—CHj+Br~
.I'.-"Es”

Options :

26435113377, Carbocation A is more stable and formed relatwel}-' at slow rate

86435113378, Carbocation B is more stable and formed relatively at slow rate

26435113379, Carbocation A is more stable and formed relaﬂvel}-' al faster rate

86435113380 Carbocation B is more stable and formed reIativc-I}-' al faster rate
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Question Number : 45 Question Id : 8643514455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

+
> CH3 T CHE_ CHI _CHZ + Bl'_
l’.l'Aﬂr

CH;—CH,—CH=CH,+HBr

+
» CHy— CH,—CH—CH;+Br~
i B-'.f

Sug 92 arggae wat A w3 B ¥&S © 979 AdT 985 ©f 98 9 ¢
Options :
26435113377, T TEde MTIBA ST AET IS S SHE Sd S e 9 3 gao d |

26435113378, F'JHole WG B30 AfET J S SH&SHA 20 3 We ©9 3 9507 J |

26435113379, FIHde M6 AST ABT I »E IHSHA 99 I 20 ©9 3 gao J|

86435113380, 9HAE M5 B Z0 AfET T w3 3SaSHA 29 3 20 T9 3 g5 J|

Question Number : 46 Question Id : 8643514456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CioHpOpq +HyO —YME R, C H;504 +CeHpp04

Sucrose Glucose  Fructose
CxH,,0—2¥me3 , 5C,H-OH+2CO,
Glucose
In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435113381, mvertase and Zymase

36435113382, Zymase and Invertase

86435113383, nvertase and Amylase

26435113384, Fmylase and Invertase
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Question Number : 46 Question Id : 8643514456 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FT @aiag A

{:] EH'EEDI 1 b Hz[j — 'C(._,H] 2(_](3 + (_'ﬁH IED&
CeHyp0g = 2B | 5 H;OH+2CO,

GG

Bug fe3t mitaas fog 7= B3uda Awz 7= €3Uda B =< 6 :

Options :

86435113381, [E0=9H M3 FED

86435113382. i

86435113383, [EOT9CH MiS MHTER

86435113384, MHEISH nZ feasgen

Question Number : 47 Question Id : 8643514457 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

OCH,

(A)

In the above reaction, the structural formula of (A), “X" and “Y” re%pr:-ctweh are :

Options :
N; OCH,

H H
" :D: H

86435113385, Cl
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N, OCHj,

T
+ CH3—C-H , H)0

3 o

N»
Ij ; ; "

OCHj

86435113386.

86435113387.

N-} Cl—

T
»  CH3-C-H ,6 HC

OCH
86435113388. 3

Question Number : 47 Question Id : 8643514457 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

OCH,4

(A)

Budaz miaest €3 (A), “X” w3 “Y” B gHTT Ho9s' TOH% 06

Options :
N; OCH,

H H
H” D H

86435113385. Cl
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N, OCH,

T
! (HH:’r—(--_H ; Hz{)

86435113386. Cl
N5 Cl-
{i::}“:::“:;;7<i:ff
: H [j H ’ HQD
OCH,4
86435113387. 2
N, Cl—
@
d CH:i_C—H ; HCl
YCH
86435113388. OCHjy

Question Number : 48 Question Id : 8643514458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Primary, secondary and tertiary amines can be separated using :
Options :
86435113389, Chloroform and KOH

26435113390, Benzene sulphonic acid

86435113391, Par a-Toluene sulphonyl chloride

86435113392, “Acetyl amide

Question Number : 48 Question Id : 8643514458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fendt, Fesdl w3 Zandl mHlah § Wisa-1isdl Ja6 S =930 dieT 3
Options :
86435113389, @@9swH 15 KOH

86435113390, HOHIG HEeEd 37
86435113391, 9" TENIG ABGAEIS SHAES

86435113392. HRICTENS THTETS

Question Number : 49 Question Id : 8643514459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - I

List - 1 List - 11
Chemical Compound Used as
(a) Sucralose (i)  Synthetic detergent
(b) Glyceryl ester of stearic acid (i)  Artificial sweetener
(c) Sodium benzoate (iii) Antiseptic
(d) Bithionol (iv) Food preservative

Choose the correct match :
Options :
86435113393, (@)1, (b)-(ii), (c)-(iv), (d)-(iii)
86435113394 (@)(i), (b)-(i), (c)-(iv), (d)-(iii)

86435113395, (a)-(iv), (b)-(iit), (c)-(it), (d)-(i)

86435113396, (@)-(1), (b)~(i1), (c)-(iv), (d)-(i)

Question Number : 49 Question Id : 8643514459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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got - 1 w3 gat - 1l g
Hot - 1 geor- 1l
anfea wfaa <afamr A
(a) pASEH (i) FAfE3 I oeaa
(b) A9 3= (i) F&=el Hom =@
T TGS HIOTES hiAeT
(c) RS Eanee (iii) darE sH (MSthufea)
(d) wEteEss (iv) A6 BafemEr
Adt B39 € 9= a9
Options :

86435113393, (@y(1), (b)-(ii), (c)-(iv), (d)-(iii)
86435113394, (@)-(i), (b)-(1), (c)-(iv), (d)-(iii)
c6435113305. @), (D)), (c)-(ii), (d)-(i)

86435113396, @)-(i1), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 50 Question Id : 8643514460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fructose is an example of :

Options :

86435113397, Aldohexose

26435113398, Ketohexose

86435113399, yranose

86435113400, | 1eptose

Question Number : 50 Question Id : 8643514460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Zdoed foq Brgas T
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Options :

86435113397.

86435113398. :

86435113399.

86435113400, JUeH

Chemistry Section B
Section Id : 864351298
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351298
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643514461 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of chlorine atoms in 20 mL of chlorine gasatSTPis 10721, (Round off

to the Nearest Integer).

[Assume chlorine is an ideal gas at STP

R=0.083 L bar mol~! K~1, N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643514461 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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20 fHEtEte a@dte 3 STP 3 % a&dls © UgHE ©f At 1021 31, (839 &35
yds wid 3d f&d)
[¥& STP 3 a®dls f&d wear diF J
R=0.083 L bar mol~1 K1, N ,=6.023 x 105
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643514462 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr is doped with 10 5 mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 10", (Round off to the Nearest Integer).

[Atomic Mass : K: 39.1u, Br: 799 u
N , =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514462 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr €9 10> 7% YA SrBr, € »ipusT fh@et aret I 1 1 amd KBr fares <9 fazst €t ua=sna
yE gt 1014 7% | (857 338 yds wid 3 &)
[W—I‘"‘rﬁﬂ'ﬂ?—f :K:391 u, Br: 799 u
N, =6.023 10%3]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100
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Question Number : 53 Question Id : 8643514463 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%10~ ! BM. (Round off to the Nearest Integer).

[Given: 3 =1.73, V2 = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514463 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Aiat/s werEt ffe Fe(Z=26) o frse frus gwet iife _ x 10~ 1 BMJ1. (839 3%
YI5 mid 3 15H)

37 J: V3 =173, V2 =141]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643514464 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A 1 molal K Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.
The molarmassof Ais ___ u. (Round off to the Nearest Integer).

[Density of water = 1.0 g cm ™ 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 54 Question Id : 8643514464 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

¥ He®sT =% K Fe(CN), € Ws € f<tivs € HST 04 J1 ferer 89 won o 99 us ¥ S989
J R oo 379 nieAg 18.1 u3StAS i faust niuwest ufss AT 1A T Heg UA T
(839 538 yds nid 3a f&5H)
[uat € wesT= 1.0 g cm 3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514465 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the reaction N,Oy4(g) === 2NO5(g)- The temperature at which K(_.= 204 and

Kp=600.1, is _ K. (Round off to the Nearest Integer).
[Assume all gases are ideal and R=0.0831 L bar K~ ! mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514465 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AHISES N,O4(g) == 2NO,(g) T SUHG _ K3 K.=204n3 K,=600.1 T 55

J1 (837 338 uds wix 3 f&54)
[H& AGr dnr wMEar 98 wS R=0.0831 L bar K~ ! mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 56 Question Id : 8643514466 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A KC1 solution of conductivity 0.14 S m~ ! shows a resistance of 4.19 ) in a conductivity cell.
[f the same cell is filled with an H( solution, the resistance drops to 1.03 (). The conductivity
of the HCI solution is %x1072S m 1. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643514466 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

feq oz Ao f9 KClus ©f o%a370.14S m ! =¥ ystew4.19 () TonS<t 919 88 s f<g HA
or W& Ffanm g7 3T ustgog we o 1.03 Q. Ifg 7er 1 fer HCl us & g®masT
%107 ism™13 i@gﬁﬁﬁﬁgﬁﬁhﬁﬁ%ﬁ}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643514467 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction 2A + B, — 2AB is an elementary reaction.

For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor
of 3, the rate of the reaction increases by a factor of . (Round off to the Nearest
Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 57 Question Id : 8643514467 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AHIEE5 2A + B, — 2AB fea n@iiedt fafonr 31

yStgonar ©f foRfos HST %21, 5936 T M6S6 p 3 T dEaus (factor) 3% weBz 3 yfsfafondt &
9 diEeds © =TT dT J1 (839 338 Uus nig 3 faH)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514468 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

On complete reaction of FeCl, with oxalic acid in aqueous solution containing KOH, resulted
in the formation of product A. The secondary valency of Fe in the product A is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514468 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

FeCl, »i3 niaABa SAE € A% W fAR 199 KOH € ydt ySiiafonr 3 GUR A sa<t J1 Fe©
Hasl AumesT Gud Afde T (B39 53 yds wid 3 f&w)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 59 Question Id : 8643514469 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (C;H,,O) is
to the Nearest Integer).

. (Round off

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514469 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

wHtes = NaOH = ySiiafonr 3 Hrteels nramels (CH,,0) Te/aser J1 HAlCE® niames
S5 o fa=st C-C fAa sus

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643514470 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

O
| 0
S i
0140 g 0388 g 0210 g
Consider the above reaction. The percentage yield of amide product is _ . (Round

off to the Nearest Integer).

(Given : Atomic mass : C :120u, H: 1.0y, N: 140 u, O: 16.0 u, Cl : 35.5 u)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643514470 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0

~a
+ Cbl 15N] lCéf |5 e CEHE_C_N_{CFJHE}E

0.140 g 0.388 ¢ 0.210 g

___J1(B3T 3% T nix 3

Budes grelza fafonr feo myets Gun & ySins teea
fou)
(fBrd:y=d ¥d : C:120u, H: 1.0u, N:14.0 u, O : 16.0 u, Cl : 35.5 u)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Mathematics Section A
Section Id : 864351299
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351299
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643514471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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. . s 1 ¥ 2
The number of solutions of the equation sin 1[12 [ E] F cos 1[12 E} = x*°, for

xe[ — 1, 1], and [x] denotes the greatest integer less than or equal to x, is :
Options :

86435113411, Y

86435113412, 2

e

86435113413.

86435113414, Infinite

Question Number : 61 Question Id : 8643514471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' 2 2 " o o
:nmﬁasmﬂ{ﬁ |%}|cmﬂ[f1 §}=x3ﬁqu 1,1] W3 [x] wfUa3H AYTS »d x

< §9Hg 71 We § gIRE e J, € I8 & fare3t It ¢
Options :

86435113411, U

86435113412. 2

e

86435113413.

86435113414.

Question Number : 62 Question Id : 8643514472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the Boolean expression (pAq)@(peq) is a tautology, then ® and @ are respectively given by :

Options :
86435113415, " ¥
86435113416, ¥»
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86435113417, 7

86435113418. "

Question Number : 62 Question Id : 8643514472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

793 glems MiETs (prq)e(peq) 3 Y57 a3t (a7928H) 3, 32 « w3 o gHET fourd
e

Options :

Ay V

86435113415.

86435113416, ¥»

86435113417, "

86435113418. "

Question Number : 63 Question Id : 8643514473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
— M .Y M — A A A
Let O be the origin. Let OP =xi + yj kand OQ =—-i1 + 2] + 3xk,x,yeR, x>0, be

PQ| = ¥20 and the vector QP is perpendicular to OQ. If OR =3 - zj 7k,

such that

— —3
z € R, is coplanar with OP and OQ, then the value of ¥+ y? 1 22 is equal to :

Options :

=

86435113419.

2

86435113420.

=]

86435113421.

o

86435113422.
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Question Number : 63 Question Id : 8643514473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fat

o - o _} "' ’ M - : _:’ . ’ ) s
HEBR OWEJd| HaBB OP =xi + yj— k™3 OQ=—i +2j +3xk,x,ye R, x>0

iy - ' —3 . — ¥ " = . — A A A - —
Aefa 1%3‘::vfﬁi w3 2FET OP, OQ 3 BIJ | #I9 OR =3i + zj — 7k, z€ ROP

. = - g} §
w3 OQ € AH3ST J, 3T 22+ + 22 T HE 9954 d :
Options :

86435113419.

2

86435113420.

=]

86435113421.

86435113422, ¢

Question Number : 64 Question Id : 8643514474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 4.2

x
of the matrix |4 5.2 y is zero, then the value of k% is -
5 k z
Options :
86435113423, ©
2
86435113424 1°
86435113425, 20

86435113426, 72
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Question Number : 64 Question Id : 8643514474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[3 42 x
799 x, y, z widafeda St e 95 e AT 39 d, x 23d T FEFHATGH |4 502 | &
5 k =z

fgcafise fAgg 3, = k2T W I :
Options :

86435113423, ©

86435113424.

86435113425. °

~]
2

86435113426.

Question Number : 65 Question Id : 8643514475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

tan(w co hzﬂ‘_l

The value of the limit lim is equal to :
8—=0 sin (2 sin™0)
Options :
1
86435113427, 4
1
;
86435113428. =
1
86435113429, 4
0
86435113430.

Question Number : 65 Question Id : 8643514475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

tan( n:nr-,'z[]]

lim T HS 99T J :

8—0 sin (21 sin’0)
Options :
1
86435113427, 4

1
;
86435113428, 2
1
86435113429. 4
0
86435113430.

Question Number : 66 Question Id : 8643514476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=k

105in 2x]

il dx =ae” 1+ e 2 ++, where w, B, y are integers and [x] denotes
0 e

If the integral

the greatest integer less than or equal to x, then the value of «+ 5 + v is equal to :

Options :
86435113431, U
86435113432, 10
86435113433, 20
86435113434, =2

Question Number : 66 Question Id : 8643514476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1

10[.:. 7. s . 2 -
S R [mfiﬁﬁzml|&zihﬁmm&?ygmnmmﬂﬂWWw
) e

HYgE wid x W 77 99799 § TIHE €' J, 3€ at+ B +y © HS 9999 d
Options :

86435113431. 0

86435113432, 10

86435113433, 20

86435113434, 22

Question Number : 67 Question Id : 8643514477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve y=y(x) is the solution of the differential equation

5/ 1/ 9/
2(x2 - xi)dy —y(x + x*)der= 2v* dx, x > 0 which passes through the point

' 4
(lr 1 3 Iogei] , then the value of y(16) is equal to:

hY

Options :

86435113435.

G
86435113436. )

86435113437, *°

86435113438.

67/89



3/18/2021

Question Number : 67 Question Id : 8643514477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

199 239 y = y(x) TEeTalmmE mitage 2(x% + /%) dy —y(x + x/4) dx = 2¢/4 dx, x> 0 T IS

B 4 | : !
E‘Z‘rﬁf&fﬂg(lrl Elﬂgezjﬁgmﬁﬁy{lﬁ]?%mﬁ:

Options :

4(% 3 Iﬂgﬁﬂ
86435113435. 3

(3

(71 2 log3)
86435113436,

% b — Iogﬁﬂ
86435113437, /

86435113438.

Question Number : 68 Question Id : 8643514478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the differential equation

cosx(3sinx + cosx + 3) dy=(1 + y sinx(3sinx + cosx + 3))dx, 0 =x _% y(0)=0. Then, y(%} is

equal to :
Options :
2log, {—q\ﬁ SW
864351134309, g
2 Im\g,H [ﬁ l ’TW
86435113440 2 )
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23 +9)
EIngE {J_T|
LN A

86435113441.

zmgﬁ{zﬁ | mw

86435113442. LI

Question Number : 68 Question Id : 8643514478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HE B‘@’ y=1(x) feedafms mtads cosx(3sinx + cosx + 3) dy =(1 + y sinx(3sinx + cosx + 3))dx,

O=x=—,y0)=0 T IBT| Ie y{%} g9ET J

2 L )
Options :
EIogH {—’;ﬁ 8)
86435113439. . 4
EIGgH [ﬁ l ’q
86435113440 .2
| 23 +9)
i, (202.29)
', 6 s
86435113441,
2J3 + 10
2 L:}g,E [J_TW
86435113442. L /

Question Number : 69 Question Id : 8643514479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ flﬂ
2—-sm|—||Ixl,x+0
( 'a_x;; d . Then fis:

Consider the function f: R — R defined by f(x) = {
| 0 , x=0

Options :

86435113443 monotonic on (0, =) only
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monotonic on (— =, () only
86435113444. %

86435113445 monotonic on (— =, 0) w (0, =)

not monotonic on (— =, 0) and (0, =)
86435113446.

Question Number : 69 Question Id : 8643514479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I LR
) 2 L — 5 [ oF =5
HE 88285 f:R - R f{ﬂ:{[ qm(,«;M K x 20 s ufgefirm EcS g
| 0 - =1

Options :

86435113443, 3B (0, ) 3 T (HEEfsa)

86435113444, 7B (— =, 0) T Tarfuarg (Hafaa)

86435113445, (— = 0 (0, =) 3 TIfaa (Hafaa)

(— =, 0) M3 (0, =) I Tafuag (H&fax) &It
86435113446.

Question Number : 70 Question Id : 8643514480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The value of
[r] + [2r] + ... + [n1]

lim
n—o 112 i

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,
is equal to :
Options :

86435113447, ©

70/89
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I

86435113448, 2

86435113449, 2T

86435113450. 0

Question Number : 70 Question Id : 8643514480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

juisc [r] + [2r] 4 2 t [nr] o s 3.

n—o n

i r ffa 319 fAeg Tw3fed »ig w3 [r] »fTa3H Yas »id r 3 We 77 9090 § SoAg e d ¢
Options :

86435113447, ©

r

86435113448, 2

86435113449, 2T

86435113450. 0

Question Number : 71 Question Id : 8643514481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Leta computer program generate nnl}-' the digits Dand 1 to form a string of bf_nar}-' numbers

with probability of occurrence of 0 at even places be 7 and probability of occurrence of 0 at

1
the odd placr_- be E Then the prohabilit}-' that "10¥ is followed h}-’ ‘01 is r_-qual to :

Options :
1

86435113451, ¢

71/89
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- =

86435113452.

0|

86435113453.

[
oo

86435113454.

Question Number : 71 Question Id : 8643514481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H& B8 fq dfuBeg JaramH € »rara3 »igh ©f B3t g Bt fige 0 w3 1 {97 St Uer gaev J

mﬁqnmmam@aeﬁwg wnémwam@aﬁw;m 32 10 &t
‘01’ 3 A< g™ WO Bt A= 9aHg J :
Options :
1
86435113451.

=

86435113452.

0 | =

86435113453.

86435113454, 18

Question Number : 72 Question Id : 8643514482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,
then the total number of triangles that can be constructed using these points as vertices, is

equal to :

Options :

72/89
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86435113455, 260

86435113456. 364

86435113457. 333

2
86435113458. =

Question Number : 72 Question Id : 8643514482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
#ag f3gd ABC fom™ ga=" AB, BC w3 CA d% gHIT 3, 5 »i3 6 »iegal fig 75, 3T feast
fidgnr & fidg & 3 =g 77 RS T8 38 f3gar =t faest ga99 7 ¢

Options :

86435113455, 260

86435113456. 964

86435113457. 333

2
86435113458. Z1

Question Number : 73 Question Id : 8643514483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the tangent to the circle x2+ y>=25 at the point R(3, 4) meet x-axis and y-axis at points P
and Q, respectively. If r is the radius of the circle passing through the origin O and having

centre at the incentre of the triangle OPQ, then r? is equal to :

Options :

86435113459,

86435113460.
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529

86435113461. ke

585

86435113462, ©©

Question Number : 73 Question Id : 8643514483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

He 89 fdg R(3,4) I 999 22 + > =25 § HYTH 34T x Td »3 y Td § gHe'd fie P »i3 Q 3 fuset
d | 799 999 7 9t O He &9 Swer I »3 GAeT dead 397 OPQ T »iedal dvd 92 w3 GAe

o oA r R IT 29999 T
Options :

86435113459, /2

86435113460.

529

86435113461. “

585

86435113462, 0

Question Number : 74 Question Id : 8643514484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LetS;, 5; and 5; be three sets defined as

S, = {ze C:|z-1| =42}
5, = {ze C:Re((l1-i)z)=1}
S; = {ze C:Im(z) = 1}

Then the set 5, M 5, 54

Options :

74/89
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has exactly two elements
86435113463. =

36435113464, has exactly three elements

86435113465, 1S asingleton

36435113466, Das infinitely many elements

Question Number : 74 Question Id : 8643514484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H& 88 T35 AT S, S, »3 S, I fad gnimar ufgerfas J
S, = {zeC: |z—1| =42}

S, = {ze C: Re((1-i)z)=1}

S; = {ze C:Im(z) = 1}

3¢ HHJ 51 Y 52 Y 53 :
Options :
86435113463, 98 A € 33 T5

86435113464, 3 THIE 135 I3 T5
86435113465, B4 331 J

86435113466, 8 MIAHIS € 33 T5

Question Number : 75 Question Id : 8643514485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e ™ *sinx. If F: [0, 1] — R is a differentiable function such

: x 1 .
that F(x) = j f(t) dt, then the value of jﬂ{F'{x) | f{x”eldx lies in the interval
0

Options :
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86435113467, -260 360

'[32? 329

86435113468. el

[ 331 334

86435113469. 360 360.

[335 336}

86435113470. 360 360

Question Number : 75 Question Id : 8643514485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H& B2 f: R — R f(x) =e *sinx ©»a" Ufgg Tz J | 79 F: [0, 1] — R & faecmees e85 7,

' x o .
Aefad F(x) = J:] f(t)ydt 3= J:] (Fi(x)+ f(x))e"dx T s nizas &9 <o .

[, o]
3607 360

360" 360

Options :

86435113467.

86435113468.

331 334}

86435113469. [%ﬂ 360

[335 336}
360" 360

86435113470.

Question Number : 76 Question Id : 8643514486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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6
The value of {ﬁC, . E'I_"f, ,_] is equal to :
r= 0

Options :
86435113471, 224

86435113472, 1024

,
86435113473. 1124

86435113474, 1324

Question Number : 76 Question Id : 8643514486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B (6 6 %
Y (°C - °Coy | THB HTHT T
r= 0
Options :
86435113471, 724

86435113472, 1024

7,
86435113473. 1124

86435113474, 1324

Question Number : 77 Question Id : 8643514487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to

o SRR . o ) x—2 )
D T e | and containing the line = o is

d
(==
=
|
1
il

line

ax +py +yz=24, then a + + v is equal to :
Options :

86435113475, 21
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]
=]

86435113476.

[==1

86435113477, 17

86435113478.

Question Number : 77 Question Id : 8643514487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 yw—3 z+2 —_— -
-4 - g3 TouT yf3fdy &5 Swer I »3

deg s A fafdg (2,3, 1) Ty u

k2| 4+
=i

1
gigi ] ¥y _z+1 we
P fer 3% QuT T, T AHIGGE ax + By +yz=24 J< 3T a+B+y
H9Hd J

Options :

86435113475, 21

86435113476, 20

86435113477, 12

86435113478. 13

Question Number : 78 Question Id : 8643514488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from a point P to the circle 22 y‘? 2x — 4y +4=0, such that the

12 12
angle between these tangents is tan (Ew where tan l(g | € (0,7). If the centre of the
\ 9

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of
the areas of APAB and ACAB is :
Options :

78/89
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86435113479, 74

86435113480.

86435113481.

86435113480, 114

Question Number : 78 Question Id : 8643514488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fog fidg P 3 d9ag 2+ 2x 4y +4=0 & € HYIH Sy &R 397 fddhu® aretni™ 938 fa &=
12

5 e g I TR T i
f@g9a9 tan 1(€] T aE d, 8 tan 1(1?|e{n,».r] Had 9ad € ded 6 C '8 SaaTten™ I w3
S s = I

HUTH 342 Jad § A w3 B fiew € mign gas, 3¢ APAB %3 ACAB ¥ 43328’ & fid Hafe3
WMEUI J
Options :

86435113479, 74

86435113480.

86435113481.

86435113480, 1114

Question Number : 79 Question Id : 8643514489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation x + 2 tanx = EI in the interval [0, 2] is :

Options :

86435113483. 2

86435113484, O
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86435113485, 4

86435113486. 5

Question Number : 79 Question Id : 8643514489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3T [0, 2] fI9 mfiaee x + 2tany = = T I & foredt T

Options :

2

86435113483,
86435113484,
86435113485, 4

86435113486.

Question Number : 80 Question Id : 8643514490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a tangent line to the parabola y?=4x — 20 at (6, 2). If L is also a tangent to the ellipse

=1, then the value of b is equal to :

ot
|x.1| -

5
g
b

Options :

(=1

86435113487, 11

4

—

86435113488.

86435113489.

3
86435113490.

Question Number : 80 Question Id : 8643514490 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ka ] ct] - - e e =, = IE ]2 o
H5 B8 L, UT98T y?=4x-20 § (6,2) 3 I WUaw 3w 7| #a9 L fefaum —- 4 fl—zl &
I i
HUTH 3y 32, 3T b T HS §3HT J -
Options :
86435113487, 11

86435113488, 14

86435113489.

86435113490, 2

Mathematics Section B

Section Id : 864351300
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : |
Sub-Section Id : 864351300
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643514491 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o
Let I, = j 1 (log/)™ dx, where n e N. If (20)I,;,= alg + Blg, for natural numbers « and §3,

1

then o — 5 equals to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
81/89
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Possible Answers :

100

Question Number : 81 Question Id : 8643514491 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H& 88 I, = rx”’ (loglx)" dx & ne N | 753 Yfgfaa Aftmia o W3 B T (20)[p=aly + Blg
1

J2, 3T o p §9HT )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514492 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M ,n e N be the slopes of three line segments OA,

2

Let tano, tanp and tany ; o, B, v #

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

y ’ : 3 3
and its orthocentre lies on y-axis, then the value of [ cos3a + cos3p + cos 3y

".

.
1 is equal to
COS « COS 3 Cos vy )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514492 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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. (2n-1)

H& B8 tana, tanP %3 tany ; o, B, v T, n e N gHEF T35 U™ OA, OB %3 OC &

8 J, ME O HE J1 790 AABC T Ufdaed He I I w3 ferer 89 ded y 19 3 J, 3¢

T THgEIEYs _ d|

[cns 300 + cos 3B + cos Iy
Cos o COS [ cos vy )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514493 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If 1, log,(4*—2) and Ingm(-—lx I IS—SW are in arithmetic progression for a real number x, then
. J

the value of the determinant is r_-qual to:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514493 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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99 THIFER Wi x B 1, log,o(4* - 2) W3 xngm(f | 15_3] wiErfsatg w4t f29 75 32
7

femitse | © . 2/ | = s saeg T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514494 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a set of 3n numbers having variance 4. In this set, the mean of first 2n numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2n numbers, and subtracting 1 from each of the remaining n numbers. If the
variance of the new set is k, then 9k is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643514494 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H& 88 3n Aft™ T 2 AHT © YAds 4 J | o Ayg 59 ufgsh 2n Afimre & HoHs 6 w3
"TEl n At T HOH'S 3 9 | Jfafen 2n Afimret fog g9a Afawr f@9 1 93 w2 96t n
AitmieT &9 god Aftmr &9 1 wed 89 5 Ayg g fon fapi™ 3 | #4949 &< AHT T YyAds k
J<, 3¢ % H9Hd I

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643514495 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: [-1, 1] — R be defined as f(x) =ax?+bx +c for all x ¢[ -1, 1], where a, b, ¢ € R such

. I f(x) =«

P | =

that f(—1)=2, f(—1)=1 and for x € (— 1, 1) the maximum value of f"(x) is

x € [—1, 1], then the least value of ais equal to ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514495 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H& 88 f:[-1,1] —» R I fod wigAa ufag™iz I f(x)=ax?+bx+c HJ x [ -1, 1] Bt g
a,bce RATT f(—1)=2,f(-1)=1 M3 AT x e ( l,ljBﬁl_F'{x]?mEB%ﬁl Hdd

f(x) = o, xe[~1,1] T2 o T W F We 1B TIHT picis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514496 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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\n

Let the coefficients of third, fourth and fifth terms in the expansion of [1‘ I —.,| ,x70, be
\ x J/

in the ratio 12: 8 : 3. Then the term independent of x in the expansion, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514496 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

' RN

Hs 38 {x I ij| ,xz 0T UAS RS f2me, S8 nE Ui W e I @ widU3 12 :8: 3 T |
\, - R

ScefeRUAe R x I ASzT UE T I _J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514497 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:[—3,1] — R be given as

 min {[1‘ I ﬁ],xz], d=z=1
flx) =4 :

1 2
| max «\E,x“}, OD=x = 1.

[f the area bounded by y=((x) and x-axis is A, then the value of 6A isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643514497 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fmin {[1‘ F6), 1‘2}, 3=x=0

r . 3 ] E HJ-]: ,
I-FESB@ £l ,1]%&3’5?8’&“@9‘@3{ | max {vqlz} < x=1.

H99 y=/(x) »3 x T3 &5 fT 439 T 43985 A I, 3T 6A T HS 99 ol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514498 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P be an arbitrary point having sum of the squares of the distances from the planes
x+y+z=0,Ix—nz=0 and x—2y +z=0, equal to 9. If the locus of the point P is
x2 yz t 22=0, then the value of [ —n is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514498 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HE B8 Padi g I AR 3 x+y+2=0,lx ~nz=0 "3 x— 2y +2z=0 3 Eal € TFa =" A3 9
€ ¥9™d J | H99 P fig € fen 2" Ay 22 +12 +22=9 3, 3€ | - n ¥ HB ¥IHg
JI

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

87/89



3/18/2021
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 8643514499 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M M M — Fy M .Y
Let x be a vector in the plane containing vectors a=2i—j+k and b=i+2j—k. If the

vector x is perpendicular to 3i 2; Ir) and its projectionon a is 176 , then the value of
2

2
_:'. = +
‘x ‘ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643514499 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5 B8 38 AT QUa 2aed a=2i - j+k W3 b=i12] k ISR QR I Tem x I | 7@

AR N 2 1289 w3 o a 3 gy 'l?f 3 ¥ m‘ CavoRery: - O |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 90 Question Id : 8643514500 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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